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QUESTION 1

Which option is a network entity that can mix multiple Voice over LTE call bearers into a conference call?
A. Media Resource Function

B. Media Gateway

C. Mobile Switching Center

D. Packet Data Network Gateway

Correct Answer: A

QUESTION 2

Which types can be classified as bulk stats on the Cisco ASR 50007?
A. Counter, Gauge, Information

B. Gauge, Counter, Iterative

C. Circular, Gauge, Counter

D. Watermark, Counter, Gauge

Correct Answer: A

QUESTION 3

Which configuration command enables the Cisco ASR 5000 to hold onto CDRs that are duplicates while waiting for the
primary CGF to come up?

A. GTPP duplicate-hold-time
B. GTPP dictionary

C. GTPP dead-interval

D. GTPP default

Correct Answer: A

QUESTION 4
Which protocol does the IMS client use to register with IMS core?

A. Diameter Protocol
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B. Session Initiation Protocol
C. GPRS Tunneling Protocol
D. Real-time Transport Control Protocol

Correct Answer: B

QUESTION 5

Which two triggers are applicable to partial record closure for the SGW-CDR? (Choose two.)
A. termination of IP-CAN bearer

B. abnormal release

C. S-GW change

D. MS Time-Zone-Change

E. PLMN-Change

Correct Answer: DE
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